Term 2 Slip Test

9th Standard Date: 11-Jan-19

a-,amﬂg,m Reg.No.:

Time: 02:30:00 Hrs Total Marks : 60

L& S-o 15x1=15

Filwimest elenLsnwld CHIHOSHH ES :
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n(AUBUC)= 100, n(A)=4x, n(B)= 6x, n(C)= 5x, n(ANB)=20, n(BNC)=15, n(ANC)=25 LDMMILD n(ANBNC)= 10 6éT6ufl6L x @6oT
LOGILIL
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€2(I5 HSIFl6L 40% LD&S6IT €(I, 66N LIPS MG LOL_ (B'LD 35% LDS &6 QT65u1(H 6U6mS LILDIRISH6016r LOL (H'LD,
20% LD&S6IT CLD 60TM)| 626518 LILDIRIHEMETILLD I (HLDLISIM TS 6T60fl60, GLOM SH6TUTL CLOETTM)] 6261
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(@ 5 (b) 8 (c) 10 (d) 15

SLD&SMEUTLIEUM MI6TT 618 X181 S (LD M) 6T630T {60 60?2
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V80 = k\/5, 6T60fl60 k=?

(@2 (b) 4 ()8 (d) 16

Ifv/9% = /92 6160116V, x
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x-1 6T60TLIG)| I@)\60T 62 (I, SITI6UYN
(@ 2x-1 (b) 3x-3 (c) 4x-3 (d) 3x-4

(x+y) (x*-xy+y?)=
(@ (x+y)® (b) (x-y)® (o) 3+y? (d) x3y3

36 €260TLIG ITLD 6)(G LIL| LDTETUTEUJEHEMETILLD, 48 LI& & ITLD 621(§ LIL| LDTETuT6UFHEM T LD G&mesor(h
eNememumL (b HIL 60160 61 LIL UMFILITSELD, FLD 6T630T608T&6MSHUTN6L 2_6ITETEUMMILD & EMMHS LILFLD
618 & 601631 6UIJl6M & Herl6L LOTEUUTEUTSH 66T HMIS & QMUIGVILD?

(@) 12 (b) 144 (o) 7 (d) 72

SYJLD 25 Q&FLE 26116 QUL L& S)6tT 6mLOUIS HeO (BHG) 15 Q&FLE HTS Hl6L 2_6iT6r [HT6usedT HerLd

(a) 25Q & (b) 20Q&FL8 () 40Q&8 (d) 18Q&FLE

QILL BT &JS 60T 62(1h CHTEuu 616y 75° 6T6fl6V, 6TE ] CHIT6m1E &) 60T 6116

(a) 100° (b) 105° (c) 85° (d) 90°

UL S &6V UL L BTMHSJLD ABCD @6V LIG&LD DC 46078 E 6u6miy HL L LILIL (B 6iTerg). GLOgYILD AB Q&S
@\6m6uTLINTS CF 6m&. @IhIG L ADC=80° LDMHMILD £ECF=20° 6T63116L £BAD=?

(@) 100° (b) 20° (c) 120° (d) 110°

gomeflunNedl(hbH &I, Se060TSH &l n 2 MILILIS6T 6T 0116V &M &aT6iT Fal (h & 6S TN

@ o0 (b)) n-1 (c)n (d n+1



14) x, x+2, x+4, x+6, x+8 6T60TM & JE63T FHMEI] 11 6T60716D (LD G 6L CLO6ITM)Y & [J6L Heril6dT Fal_ (B F&FTTEIS]
(@ 9 (b) 11 (o) 13 (d) 15
5) (PG 6L 10 LIS eT6tu1& 61Tl 60T Q6mL_[Hlemev Sierme]
(@) 4 (b) 45 (o) 5 (d) 55
LG S)-S, 8x2=16
§1G&6ILD 6T|'_@ 16011 5 5 (615 & (& T l6tL W6l :
16) A={-3,0,+,2,2},B={0,+,2,2, 3 }0mmIb C = {—3, 1,1,2, 5} eT68Ml6L, AN(BNC) = (ANB)NC
6T60TLIENG & FHILIMTSS.
N A={-11,v2,+5,7},B = {/3,5,6,13} bOMID C = {+/2, /3, /5, 9} pHieum Mm@ &
&600TM! &61Tl60T Qe (H & &Mest GEFITLILILI LI6toILNlement & FUMTES.
18) LTlesTeU (HeUeTEUMEMM 5" 61lIq. 61 H6L 6T(LPG)IS: 625
19) L IBluTest hlemm 5.97x 10%*E). 8, Hleo maNest Hlemm 0.073 x 106.&). @eum M6t CILomg & Henm eTeoT6ur?
20) SLp&HBMUILIMENM SMIaTLIEL GMIUIL (B elgeI6D 6T(LHSGIS.(0.00000005)°
21) SLp&SMesoILIEUD M6 NIFlEUTSHSLD HIT6H0IS: (5+4m) (4m+4) (-5+4m)
22) smyewenILILGB & 515. X2+4y+97%-4xy+12yz-6xz7
23) LNeoT6 (HeU6TEUM MM SMIETUTILILI(H & S 5.
%a2——2a—k3
4) Qam(h&sUUL (herTer UL §&lev, L POQ = 100° LOMHMILD Z PQR = 30° 61637160, L RPO &IT6H01&.
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25) 19168T6U(HLD 6T6V01 (615 &S (LP&(H HIT6UIS. 17, 18, 20, 20, 21, 21, 22, 22

UGSH-Q

§GCHILD 6T (h 60T 5 & (€15 & (& exlemLLie :

26) A={b, e,f,g} LDMMILD B ={c, e, g, h} 6T6Df16V, (i) BHevuThIHerTl6eoT GFTLILY
(ii) &6v0T I &6 60T QoL (B & &ITear LIFILDMMMILI LIGTITIL&6m6NTE &HILIMTSH &6 LD.

27) P ={x:x€W LOMMILD 0<x <10} Q ={x : x = 2n+1, nEW LOMMILD n <5} LBMHMILD R =12, 3, 5, 7, 11, 13} 6T601160 P ~(Q N R) = (P
-Q) U (P —R) 6T6TLIENG & FFILIMTES.

28) 60 & (B LDLIMIGEIT 26161 62( Gl UNBLILTND 2 LMIEG GI6TERHSI(Scooter), + LIMIG L& (DSl (car), 7 UMIG
LBl Flex6tuTg (bicycle) 66U Gl6TT6uT. 120 & (B LDURIGET SI6T(EHHSHI LOMHMILD LS (LPHSILD, 86 & (B LDLIMRISET
L& (D& LoMHMILD LA ex16tuTIq U LD, 90 & (B LDLIMISET GI6TEhh&! LOHMILD LAGleesuiq WL = LImIG

& (P LDLIMIGSEIT CLD 60TM)| 6260 & QUTEETIRISEMETULD 6016US S (HHEH MM &6 6T6vTl60,
(i) GEODHS & QT6HUI(H 6LMS 6LUTSH6TTRISHEM6NT 60615 &) (1h 5@ LD & (B LDLIMIS61TI60T 6T65016T & 6M S,
(ii) 6THG €2(Ih 6UMSH6TT(LHLD 661G & (& BTG (& (b LDLIMI &6TI60T 6T630T6381156M8 24, HIULIEUM MM &HTEHUTS.
9) uGHenL NAGLILG S HE G(IH5 G “mﬁ’z

NE . . :
30) v, ok a+/T + b 61601160, LDMMILD b @607 LOSLIL|SH60)61TS SHITET01S.
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31) 2x-3y-4z=0 6T60T16L,8x3-27y>-647> Q& SIT6HUI 5.

3 . . . . .
32) <y _ %) = 729 eTetfled y — L oMb y* — % WS SIS,

33) QFHNG (DEOM 61U S &6V (PEMMEMILI LILIETLI(H G H (3x°-4x%5) & ( 3x+1) Q6L QUGS G FT-6), LK) &HIT65018.
34) LM =7.5 Q&.L8, MN=5 Ql&.L5 LoHMILD LN =8 Q&.L5 16116181 && ALMN u6nh 31865 h(h&CHTL (B

EOLOUISH MG GMI&HS6LD.

35) L&S 9i6116Y] 6 (185 161168 (15 61T61T FLOLIGS (LD SCHITEHIILD 6160118, GLOSYILD 215 65T H(h&HCHTL (h
EMLOLILD LOMMILD 2_6TT6UL L 6MLDUIS 608 & M &S 6ULD. QH60 (HIh G Bk &6l SiM6s) 6T6oT601?

36) 62(Ih LOL_6ML LI LIHGTL_L & H6L 11 eXi&6iT 6T(h & & 6oL L MIS6IT (LpemmGL 7, 21,45,12,56,35,25,0,58,66,29
6163716V, S16UMMI6IT Q6ML_Hl6MBL Si6TT6Y HTEHUTS.

37) 10,17,16,21,13,18,12,10,19, 22, Q6mL_[Hl61I60 Si61T6)| HTEHUIS.
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LGS-T
1G5 0ILD 62601MIENI5 G N ifleument exlemL_Lier :

39) a) LNesTeu (LD LILMIS6TIEV x° Q6T LOSILIMLIS SHIT6H0TS.

1x5=5



(OR)
b) AB=6Q&LE B=65°" LOMHMILD AC = 7 QLY 31611618 (615 6161 ABC EUEDTHE) 1 63T 2_61T6UL_L_LD 616D S.
GLogILh 2 61T 946 MG SleNihG) 6T(LHSIS
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